Operaciones con Enteros (D)

Emplee una estrategia de enteros para encontrar cada respuesta.

91 x 35 = (-74) + (-9) = (-34) + 54 =
355 + (-5) = 5 x 84 = 27 +37 =
(-11) - (-63) = (-750) = 30 = (-33) x (-96) =
(-6) + 54 = 80 x (-58) = 36 - (-67) =
29-6= (-65)-72 = 52 x (-45) =
(-2340) = (-90) = 1139 + (-67) = 714 + 21 =

79 x (-55) = (-91) x 64 = (-840) + 14 =
10 x (-72) = 63+ (-1) = (-67)-37 =
28 - (-90) = 38 + (-73) = (-40) x 78 =
(-65) + 4 = 18- (-13) = 99 -16 =
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Operaciones con Enteros (D) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

91 x35=
=3185

355 = (-5) =
= (-71)

(-11) - (-63) =
=52

(-6) +54 =
=48

29-6=
=23

(-2340) = (-90) =
= 26

79 x (-55) =
= (-4345)

10 x (-72) =
= (-720)

28 - (-90) =
=118

(-65) + 4 =
=(-61)

(74) + (-9) =
- (-83)

5x84=
=420

(-750) + 30 =
= (-25)

80 x (-58) =
= (-4640)

(-65) - 72 =
= (-137)

1139 + (-67) =
=(-17)

(-91) x 64 =
= (-5824)

63+ (-1) =
= (-63)

38+ (-73) =
= (-35)

18- (-13) =
=31

(-34) + 54 =
= 20

27 + 37 =
= 64

(-33) x (-96) =
=3168

36 - (-67) =
=103

52 x (-45) =
= (-2340)

714 + 21 =
=34

(-840) + 14 =
= (-60)

(-67)-37 =
= (-104)

(-40) x 78 =
= (-3120)

99 -16 =
=83
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